| .mmz: - Week 2 Solidions
lectue 1 Pobloms
Quaion 1
A~{-3 50,0, (2,88 and
0=, >, 7 .,s3 so--
(Y Bobd={=3-1,0, 1, 2,8, 7,653
() Ao B=$-1, 8]
(i) A\D = {-3, o, 1,2}
(W) 6ad={-3 o, I, 21,3, 7l

(v) (4]
(Vi) ]Bi=u
i) [fx8)= 2y

m\Qxﬁ{(3~w (-3,3), (-3,7), (+3,9),
( ‘/_|)/ (’,‘/}')/<~‘/V‘)' ("(55/
(6,-1), (0, ) , (0,7 (0,s),
(‘/~|)i ([,—3), (‘/TIS/(\/SB;
(li-l)i (1/3) y (1(17)/(1/;)
(S, =13, ,3) , (s,m) (5



Quadion L

fl={c:xceN and x <7}
C=44,9 16}
G) A={1 « a,16, 25,26, «q3
Gi) C=11,1%,36, 448

- Gi) A=
(i) []= &
(o) CxC=1{ C1,1), (1,28), (13¢), (1,49),
(25 1) | (15,28) ) (25,36, (%, 41))
(6.1, (3,98}, (3¢,5), (3¢, 44),
(1), (W), (4 30), (e, bt}
Quastion D

() Rad =0 & A ch
G) AuB=8 & BEA
) Fol=¢ & U=¢
() Bad =8 & Bag =8 & Mnd=0& Beh.



Lectwe L Poblems

Clueslion W

We can ser that the
mmﬁm difocrc: 1g

scicie , (e

AACRAC): (AABYAC

o x € M A in QL\BAC): (GA&)AC lﬂ i

5 th escactly ene c/@ﬂ& ls A D, C of T

n aﬂ%ﬂé‘m )

QLLQS\‘{&;V\S

B o) n(pud)=()uns)a(hud) byloh
=(Aues)n(Auh) b\aﬁ?

N

=Qu(8°nb) by ba
=Au (B al®) by S
= Ao ¢ by 8
=0 by S

Dual: (RS0 D)o (AaD) =R



Week ). Hopovoorh Quealions

Quastién 6
=LV, o 10d
A=, 4,F, 10}
B={1 2%k 53
C={v %, ¢ 8}
(i) Bubds= ’L\,l',B, L, S, ¥, 10} 5)
G) Anc=ik] &)
Gi) 8- D= 17,103 @
(W) = ¢ ®
) (Ao BY- (c-0)= £1,1%, 45,7, 108 - 16,53
= {105 S, ¥, Lo] )

128 mashs




( Q wstion T

() {x}c i} = . ®

Tre scts are equal so e iicasion 4o nat peper.
(i) $d & (=, 3} T &
i) L) e {2} False o

{2} L nof o wombor § He st coifoining only 2. (9
() {xd € fx, &3 T )
() AxB=BxA  Fase @

Cotu{teﬂwcamp(ﬁ r A= {\3 , B{”)_—B
AxB=LG ) F {ani=0xp Q)

2 r——crmemTe B e ——————

(vi) A-B = BR=~P False )
Cobuderegcamf)& © ol G(. D an n @oﬁL (v) .
M= BuB= L1, , so

A-D = IR =Tl # 4k = 23 =0-B
&

i) A (BN = (And) ~ (An C) T ®



p = F o
Yadl (VH) (juu;'\}ﬁ{tﬁaén -
Botb\ SichA
owe e%ulvmkmr{t t felocC
i.e.

M

(vl
m P = 18y T (by dd
(ix) _ 4 oedimTipn 3
) A= (Buc)=(R-B)yC d% | .
C
| @

},/\

Q)

S marks




Quaglion 8
(Mar)u(nan)=(Aak)o (BaB) by 56 (twie)

= Qo (Mud) bﬁ”ﬁ b
=Qa (Do) hy 3a
=8 a M | E& £ a
= 0 by Sb B
Dol (o) a(BuA)-4 | )
IS sarks

Quagtion 4
() Ax B= {1, a, 2t x {1, L3
= L0, (1B, (o 1), (o b, e 1), (. b)S o
G) DxB =1, b3 x Ll o,k
=10, (1e), (b,1), (ha) (b8 ()
(m)(exn~(axa)=(a>—<u3
=10, (1), (o), (x,1) G, DY (5)

IS marks




